> w t h(Li near Al gebra);
[ &x, Add, Adjoint, BackwardSubstitute, BandMatrix, Basis, €))

BezoutMatrix, BidiagonalForm, BilinearForm, CARE,
CharacteristicMatrix, CharacteristicPolynomial, Column,
ColumnDimension, ColumnOperation, ColumnSpace, CompanionMatrix,
CompressedSparseForm, ConditionNumber, ConstantMatrix,
ConstantVector, Copy, CreatePermutation, CrossProduct, DARE,
DeleteColumn, DeleteRow, Determinant, Diagonal, DiagonalMatrix,
Dimension, Dimensions, DotProduct, EigenConditionNumbers,
Eigenvalues, Eigenvectors, Equal, ForwardSubstitute,
FrobeniusForm, FromCompressedSparseForm, FromSplitForm,
GaussianElimination, GenerateEquations, GenerateMatrix, Generic,
GetResultDataType, GetResultShape, GivensRotationMatrix,
GramSchmidt, HankelMatrix, HermiteForm, HermitianTranspose,
HessenbergForm, HilbertMatrix, HouseholderMatrix, IdentityMatrix,
IntersectionBasis, IsDefinite, IsOrthogonal, IsSimilar, IsUnitary,
JordanBlockMatrix, JordanForm, KroneckerProduct, LA Main,
LUDecomposition, LeastSquares, LinearSolve, LyapunovSolve, Map,
Map2, MatrixAdd, MatrixExponential, MatrixFunction, MatrixInverse,
MatrixMatrixMultiply, MatrixNorm, MatrixPower,
MatrixScalarMultiply, MatrixVectorMultiply, MinimalPolynomial,
Minor, Modular, Multiply, NoUserValue, Norm, Normalize, NullSpace,
OuterProductMatrix, Permanent, Pivot, PopovForm, ProjectionMatrix,
QORDecomposition, RandomMatrix, RandomVector, Rank,
RationalCanonicalForm, ReducedRowEchelonForm, Row, RowDimension,
RowOperation, RowSpace, ScalarMatrix, ScalarMultiply,
ScalarVector, SchurForm, SingularValues, SmithForm, SplitForm,
StronglyConnectedBlocks, SubMatrix, SubVector, SumBasis,
SylvesterMatrix, SylvesterSolve, ToeplitzMatrix, Trace, Transpose,
TridiagonalForm, UnitVector, VandermondeMatrix, VectorAdd,
VectorAngle, VectorMatrixMultiply, VectorNorm,
VectorScalarMultiply, ZeroMatrix, ZeroVector, Zip]

> interface(rtabl esize=infinity);

® ()]

=> MtplMr = Matrix(11, 11, |
> [0, h[10], h[1], e[10], e[1], e[11l], e[21], f[21], f

[11], f[1], f[10]],

> [h[10], O, 0, 2*e[10], -2*e[1], 0, 2*e[21], -2*f[21],

0, 2*f[1], -2*f[10]],

> [h[1], O, 0, -e[10], 2*e[1], e[11], O, 0, -f[11], -2*f



[1], f[10]],

> [e[10], -2*e[10], e[10], O, e[11], e[21], O, -2*f[11],
~2%f[1], 0, h[10]],

> [e[1], 2*e[1], -2*e[1], -e[11], 0, 0, 0, 0, f[10], h
[1], O],

> [e[11], 0, -e[11], -e[21], O, 0, 0, 2*f[10], h[10] + 2*
h[1], e[10], -2*e[1]],

> [e[21], -2*e[21], O, 0, O, 0, O, 4*h[10] + 4*h[1], 2*e
[10], O, -2*e[11]],

> [f[21], 2*f[21], O, 2*f[11], O, -2*f[10], -4*h[10] - 4*
h[1], O, 0, 0, O],

> [f[11], O, f[11], 2*f[1], -f[10], -h[10] - 2*h[1], -2*e
[10], O, O, O, f[21]],

> [f[1], -2*f[1], 2*f[1], O, -h[1], -e[10], O, O, O, O, f
[11]],

> [f[10], 2*f[10], -f[10], -h[10], O, 2*e[1], 2*e[1l1], O,
-f[21], -f[11], O]]);

MltplMtr = 3
[ 2 3 4 6 2]
1 0 hy, h, €10 € €11 )
2 hy, 0 0 2 e, —2 e 0 2 €
3 h, 0 0 —e, 2 e e, 0 ..
4 & —2 ey €10 0 €1 €51 0
5 e, 2 e —2 e —e, 0 0 0
6 e 0 —e; —e, 0 0 0
7 €y —2 e, 0 0 0 0 0
s I, 2 £, 0 2 £, 0 -2 f, —4 h,
9 f, 0 1 2 f — 1t —h,— 2 h) —2
10 f1 -2 fl 2 f1 0 —hl —e, 0 -
n £, 2 f, —-f, —h, 0 2 e 2 ¢



| > # List perfect nonom als,

> c[ 1]
c[ 2]
c[ 3]
c[ 4]
c[ 5]
c[ 6]
c[ 7]
c[ 8]

cl 9]

c[ 10]
c[ 11]

c[ 12]

(fL1]) .
(f[21])

(f[10]1) -
(f[11]) .
(f[11]) .
(f[10]) .
(f[21]) .
(f[10]) .

(f[21]) .

(f[10]).

(fri1) .
(fr11]) .

see formul as 6. 4:

(e[1]);
(e[21]);
(e[10]);
(e[11]);
(e[1]) . (e[10]);
(f{1]) . (e[11]);
(e[11]) . (e[10]);
(f111]) . (e[21]);
(e[1]) . (e[10]) . (e[10]);
(f{10]) . (f[1]) . (e[21]);
(f{21]) . (e[11]) . (e[11]);
(f[11]) ; (e[21]) . (e[1]);
c,=f, e,
c,= L e,
c,=f e,
co=rL e e,
c,=If,*f*e,
c,=f, e, e,
cg=1f,c £, e,
c,=1f, re e,
c,=fi,rf e,
c,=f+f, el
c,=f e, e )



| > Wit h(Li near Al gebra);
> interface(rtabl esize=infinity);
o (1.1)
UM := proc( TT::Matrix ) ::Matrix;
| ocal I,j,k, r,n, Mn M, xx;
Mn:= Matrix(TT);
M := Matrix( 6,6,0);
for i froml to 6 do
for j froml1l to 6 do
xx := factor(Mii,j]);
M[i,j] := collect( xx, SSSS, distributed,
factor);
od;
od;
return M;

end;
UM:= proc(TT::Matrix)::Matrix; (1.2)
local i, j, k, r, n, Mm, Mt, xx;
Mm = Matrix(TT);
Mt = Matrix(6, 6, 0);
for i to 6 do
for j to 6 do
xx = factor(Mm[i, j]);
Mt[i, j] = collect(xx, SSSS, distributed, factor)
end do
end do;

V V.V V V V V V

vV V V V

return Mt
end proc

> UMA = proc( TT::Matrix ) ::Matrix;
> | ocal I,),k, r,n,Mn M, xx;
> Mn:= Matrix(TT);
M = Matrix( 4,4,0);
for i froml to 4 do
for j froml to 4 do
xx = factor(Mi+1,j+1]);
M[i,j] := collect( xx, SSSS, distributed,
factor);

V V V V V




vV V V V

end:

Mm =
Mt =
for 1

> U

> end;

U =

> SSSS

[> #h[ 3]
> h[ 10]

od;

od;
return M

UM4 := proc(TT: :Matrix): :Matrix;
local i, j, k, r, n, Mm, Mt, xx;

Matrix(TT);
Matrix(4, 4, 0);
to 4 do

for 7 to 4 do

xx = factor(Mm[i+1, 7+ 17);
Mt[i, j] = collect(xx, SSSS, distributed, factor)

end do
end do;
return Mt
end proc

> UU := proc( T)
> | ocal U,

= collect( T, SSSS, distributed, factor);

> return U,

UU := proc(T)
local U;

collect(T, SSSS, distributed, factor); return U

end proc

= {1d};

SSSS = (Id)

V# List all relations used for cal cul ati ons:

h[10] + h[1]:
h[3] - h[1];

> # List Relations
> Rc5cl = c[6]+c[5].c[1]+c[5]*(-h[1]-1)-c[4]*h[1]-c[1]

(1.3)

1.4)

(1.5)



.Cc[5]-c[1].c[4]+c[1].c[3];

> Rc7¢2 1= c[7].c[2] +c[ 7] *(4*h[ 1] +4*h[ 10])-c[ 2] . c[ 7] +2*
(c[2].c[4])-2*(c[2].c[3])+c[2]*(4*h[ 1] +2*h[ 10]):

> Rc5¢3 = -c[9]-c[8]+2*c[ 6] +c[5].c[3]-c[5] *h[10]-c[3].
c[5]+c[3].c[4]-2*(c[1].c[3]);

> Rc7¢c3 = 2*c[9] +2*c[ 8] +c[ 7] .c[3]-c[7] *h[10] -4*c[6]-cC
[3].c[7]-2*(c[3].c[4])+c[2].c[3];

> Rc6¢c5 = c[11].c[3]+6*c[11] +c[9].c[ 3] +c[9] *(-2*h[ 10]
-6)-6*c[ 8] +6*c[ 7] +20*c[ 6] +4*c[ 5] -c[4] .c[7]-2*(c[4].c
[6])-4*c[4]*h[1]-c[3].c[11]-c[3].c[9]+c[3].c[7]-2*(c
[3].c[5])+8*(c[3].c[4])+2*(c[2].c[6])-c[2].c[3]+6*C
[2] +4*(c[1].c[7])-4*(c[1].c[4])-4*(c[1].c[3]);

> Rc5¢c6 = -¢[10]-2*c[8] +c[ 7] +c[ 6] . c[5] +c[ 6] *(-h[ 10] +2)
+c[4].c[5]+c[3].c[6]+2*(c[3].c[4])+c[1].c[8]-2*(c[1].
c[6])-c[1].c[3].c[4] +Typesetting[ del ayDot Product](c
[1].c[3], -2*h[1]-h[10]-2, true);
hyg=hy—h
Rcbcl = c,+c.c )+ ¢ (—hl—l)—c4 h —cycc.—cyec,tcccy
*c;tc, (2 b+ 2 hy)

Rc7¢c2 = c7-c2+4 cq h3—c2-c7+2 c2°c4—2 c,

Rc5c3’==—cg—c8+2 c6+ Ce® Cy— C (hB—hl)—C3'C5+ 03-c4—2 C* Gy

Rc7¢c3:=2 c9+2 c8+ C, 0 Cy— Cy (h3—h1)—4 c6—c3-c7—2 c3-c4+ C,*Cy

Rcécdb = c,*c;+6 ¢ty cy+ ¢ (—2 h,+2 hl—6)—6 CgtT 6 C
+20 ¢, +4 cg—crc;—2 ¢oc,—4 ¢, hy—cyccy—CycCyt Cyt g
—2 ¢cyrc.+8 cyrc,t2 ¢, —c,rc, 6,14 cpre,—4 0y
—4 ¢ cy
Rcbcbi=—c,,—2 cg+c,tc,cc.t+ c, (—h3+hl+2)+c4-c5+ cyrc,+2 ¢y 20)
cc, e, —2 cl-c6—c1-c3-c4+(c1-c3) (—hl—h3—2)
> # List Cazimrs
> Cazl = UU(ld*(2*h[ 1] ~2+2*(h[ 10] *h[ 1] ) +6*h[ 1] +h[ 10]




A2+4*h[ 10] ) +2* c[ 4] +2*c[ 3] +c[ 2] +4*c[ 1] ) ;

> Caz2 : = 2*c[12] +2*c[11] - 2*c[ 10] - 2*c[ 9] +c[ 8] *(2*h[ 1]
+1) +c[ 7] *(2*h[ 1] - 1) +c[ 6] * (4* h[ 1] +4*h[ 10] +6) +c[ 5] *(4*h
[ 1] +4* h[ 10] +10) - [ 4] ~2+c[ 4] * (- 2*h[ 1] ~2- 2*h[ 1] *h[ 10]
- 2*h[ 1] +2*h[ 10] +6) - 2*(c[ 3] . c[ 4] ) - c[ 3] ~2+c[ 3] *(2*h[ 1]
A2+2*h[ 1] *h[ 10] +6* h[ 1] +2*h[ 10] +6) - c[ 2] * (h[ 1] - 1) * (h[ 1]
+1)-4*(c[ 1] . c[2])-4*c[ 1] *(h[ 1] +h[ 10] +3) * ( h[ 1] +h[ 10]
+1)-h[ 1] *(h[ 1] +2) *(h[ 1] +h[ 10] +3) *( h[ 1] +h[ 10] +1) * I d;

Cazl:=2 c,+2 c,+c,+4 c,+ (hi+hi+2 h +4 hy) Id

Caz2=2 ¢c,+2 ¢, —2 ¢c,;,—2 cy+ ¢ (2 h, + l)—l—c7 (2 hl—l) 2.2)
+cg (4 byt 6yt (4 h3+10)—c§—|— c, (—2 hi—2 h, (hs— hy)
—4 h+2 h+6)—2 c,rc,—c+ cy (2 h?+ 2 h; (hy—h)) +4 h
+2 h,+ 6)—c2 (hl—l) (h1+1)—4 c,rc,—4 ¢ (h3+3) (h3+1)
— h; (h1+2) (h3—|—3) (h3+1) Id

> # Replace perfect elenents
> c[12] := -¢[10]-c[8].c[1]-2*c[8]-c[2] +c[1].c[8];

> c[11] := -c[9]+c[7].c[1]-2*c[7]-c[2]-c[1].c[7]

> c[10] :=c¢c[9]-c[8].c[1]-c[8]+c[7]+(1/2)*c[5].c[2]-
(1/2)*c[2].c[5] +c[ 1] .c[ 8];

>c[9] = (1 2)*(c[7].(c[1]72))/h[1]+(1/2)*Typesetting
[ del ayDot Product] (c[7].c[1], h[1l]-2, true)/h[1l]-2*cC
[7]-c[2]-(c[1].c[7].c[1])/h[1]-(1/2)*Typesetting
[ del ayDot Product] (c[1].c[7],h[1]+2,true)/h[1]-(c[1].cC
[2])/h[1]+(1/2)*(c[1].c[1].c[7])/h[1];

> c[8] :=c[7]-(2/2)*c[3].c[2]+(1/2)*c[2].c[3];

>c[7] :=-(1/16)*(c[3].(c[2]"2))/(h[1]+h[10])+(1/4)*
Typesetti ng[ del ayDot Product] (c[3].c[2], h[1]+h[10]+2,
true)/ (h[1] +h[10])-(1/2)*(c[2].c[4])/(h[1l] +h[10]) +
(1/8)*(c[2].c[3].c[2])/(h[1] +h[10])-(1/4)*c[2].c[3]-
(1/16)*(c[2].c[2].c[3])/(h[1]+h[10])-(1/2)*c[2]*(2*h
[ 1] +h[ 10] )/ (h[ 1] +h[ 10] ) ;

> c[6] :=c[5]+c[3].c[1]-c[1].c[3];




> c[5] :=-c[4]-(1/2)*(c[3].(c[1]72))/h[1]-(2/2) *
Typesetti ng[ del ayDot Product] (c[3].c[1], h[1]-2, true)
Ih[1]-(c[1].c[4])/h[1] +(c[1].c[3].c[1])/h[1]+(1/2)*cC
[1].c[3]-(2/2)*(c[1].c[1].c[3])/h[1];

> c[4] := UU(-c[3]-(1/2)*c[2]-2*c[1] +Id*(-h[1]~2-h[10]*
h[1]-(1/2)*h[ 10] *"2+(1/2)*z[ 1] -3*h[ 1] -2*h[ 10]));

Cli=TC T G2 g, tCt g
cn==—c9+c7-c1—2 C,— C,— C,*Cy
C.*C c, e C
clotzc—c-c—c8+c7+ 52 S 22 5-I-c1~c:8
Gt ce +( el (h1—2 _, 3 _cl-c7 cl_(cl-c7) (h1+2)
© = 2 h 2 h, G C h, 2 h,
c,rc, Cclec,
— +
B, 2 h
c.e*C c. e C
) 2" 3
Cg'=C;— > + >
B c3-c§+(c3 c2) (]f13+2)_c2-c4+c2-c3-c2_c2-c3_c§~c3
1 16 h, 4 h, 2 h, 8 h, 4 16 h,
c, (h3+hl)
2 h,
c6=c5-|-c3 c,—CcCy
. 2 —_— . ° ° ° 20
B} '__C_c3 cl_(c3 cl) (hl 2)_cl c4+cl Cy C1+Cl c3_cl Cy
5 47 2 h, 2 h h, h, 2 2 h
S 2 1 2 1
c4——c—§—2 cl-l-( 2h1 §h3+§z—h—2h3) Id

V # Define Matrix and rel ati ons

> 5SSS 1= {z[1],e[1,1],e[2 2], e[3,3],e[4 4],e[5, 5], e[6,

6],e[l1,2],e[2,1],e[2,3],¢e[3,2],e[3,4],e[4,3],e[4,5],e
[5,4],e[5,6],e[6,5]};

2.3)

SSSS = {€1,17 ©1,2r €517 €5 51 € 30 €3 00 €3 55 €3 4 €4 31 €4 41 €4 51 €5 41 3.1)

€5, 51 S5, 61 S, 51 S5, 61 21}



V V V V V V V

V V V V V V V

c[3] := Matrix(6, 6, [
[e[1, 1],

[e[2, 1]

[e[ 3, 1],

[e[ 4, 1]

[e[5, 1]

[e[ 6, 1]

c[1] := Matrix(6,6,]
[x[1], O, 0O, 0O, 0, O],
[0, x[2], O, O, O, O],
[0, O, x[3], O, 0, O],
[0, O, O, x[4], 0, 0],
[0, O, O, O, x[5], O],
[0, O, O, O, O, x[6]]11]);

X, 0

0 X,

0 0
c, =

0 0

0 0

0 0

e[1,2],e[1,3],e[1,4],e[1,5],¢e[1,6]],
,e[2,2],e[2,3],e[2,4],e[2,5],e[2,6]],
e[3,2],e[3,3],¢e[3,4],e[3,5],¢e[3,6]],
,e[4,2],e[4,3],e[4,4],e[4,5],e[4,6]],
,e[5,2],e[5,3],e[5,4],e[5,5],e[5,6]],
,e[6,2],e[6,3],e[6,4],¢e[6,5],€e[6,6]]]);

, 6
, 6

, 6

(3.2)

(3.3)



> c[2] := Matrix(6,6,]

> [y[1], 0, 0, 0, 0, 0],
>[0, y[2], O, 0O, O, O],
> [0, O, y[3], 0, 0, 0],
> [0, 0, 0, y[4], 0, 0],
> [0, 0, O, O, y[5], O],
> [0, 0, 0, 0, 0, y[6]]]);

= 3.4

> |d = Matrix(6,

>[1, 0, 0, O, O, 0],
>[0, 1, 0, O, O, 0],
>[0, O, 1, 0O, O, 0],
>[0, O, O, 1, 0O, 0],
>[0, O, O, O, 1, O],
>[0, 0, 0, O, 0, 1]]

Id: 3.5

[>'(X[”1 - x[n])"2 + 2*(x[mM + x[n]) + h[1]*(h[ 1] +
2) = 0;



L —(%,~%,)°+t2 x,+2 x,+h (h+2)=0 (3.6

> print( UJYRc5cl[2,1]) );print( UY(Rc5c1[2,3] ));print
( UU(Rc5cl[3,4]) );print( UY Rc5c1[4,5]) );print( WU

(Re5cl[5,6]) );
(x —Xz) (hf—xf-l—Z X, X —X§+2 h1+2 Xl+2 x2) e,

1 2 %1
2 h,
_A%s@(@—%+2%%—%+2m+2%+2%)%3
2 h
_(x3—x4) (hf—x§+2 x, x,—x;+2 h +2 x,+2 x,) €5,
2 h,
_(X4—X5) (hi—xi-l-Z x, X, = xc+2 h +2 x,+2 X5) €y 5
2 h,
X.— X h—x*+2 x. x, —x°+2 h +2 x.+2 x) e
(% ) (M1 5 5 62 h6 1 5 6) ©s, 6 3.7)
1
> print( UJReS5cl[1,3]) );print( UJRcS5c1[2,5]) );print
( UJRc5c1[3,6]) );print( UURcScl[4,1]) );
_61,3 (%, = X3) (hi—x§+2 X, X3—X§+2 h +2 x +2 x5)
2 h,
&5 (%X, = X5) (hi—x§+2 x, X, = xc+2 h +2 x,+2 x,)
2 h,
= (%5~ %) (hf—x§+2 x, x,—x;+2 h +2 x,+2 %)
2 h,
e X — X hR—x4+2 x, x,—x4+2 h +2 x,+2 x
5,1 (%2 ) (91 1 24h1 4 1 1 4) (3.8)
1

> # It is like A2 it follows that -->

> # x[1] = (S+i-1)72-(h[1] +1)"2/4; and e[i,j] =0
| for [i-j] > 1;
>for I fromlto 6 do x[1] := (S+i-1)"2-(h[1] +1)
21 4; od;
X, = 52 — —(hll_ 1)2
(h1+1)2

x, = (S+1)"— 7




, (hl—l—l)2
X, = (S+2)°— 7
h + 1)?
X4!=(S+3)2—( 14 )
h, + 1)?
Xy=(5+4f—(14 )
, (hl—l—l)2
x = (S+5)°— 7 3.9
_Sfor I from1l to 6 do for j froml1l to 6 do
> if (i-j >212 or j-i > 1) then e[i,j] :=0; fi;
| > od; od;
D
>-(y[m - y[n])"2 + 8*(y[nm] + y[n]) + 16*h[3]*(h[3] +
2) = 0;
—(Yn— Y,)°+8 y,+8 y,+16 h, (h;+2)=0 (3.10)
> print( UJRc7c2[2,1] ));print( UURc7c2[2,3]) );print
( UWURc7c2[3,4] ));print( UJRc7c2[4,5]) );print( UU
(Rc7c2[5,6]) );
(vi—v,) (16 h—y:+2 vy, yy—y;+32 h,+8 y +38 V,) €1
16 h,
(V.= vs) (16 hl—y:+2 vy, y,—y;+32 h,+8 y,+38 Vs) €5
B 16 h,
(Y3~ Y4) (16 hg—y§+2 Y y4—y2+32 h,+8 y,+38 y4) e; 4
B 16 h,
(Vo= vs) (16 h—y;+2 vy, y—y:+32 h,+8 y,+8 Vs) €4 s
B 16 h,
(Vs— ¥e) (16 h—y:+2 y. y,—y:+32 h,+8 y,+38 Ve) &6
— T6 T, (3.11)

> for i fromlto 6 do y[i] := 4*(T+(i-1))"2-(h[3]+1)
N2, od;
v, =4 T? — (h3-|— 1)2
v, =4 (T+1)*= (hy+1)7

vy =4 (T+2)"= (hy+ 1)°



_> X1

> UMB(c[1]);

4 (T+3)2—(h3+1)2
4 (T+4)°— (h,+1)°
4 (T+5)°= (hy+1)°

(2 S+3+h1) (2 S+1—hl)

Xl= (2 S+3) e

>:Ul\/l4(c[2]);

4

(2 S+5+h1) (2 S+

(2 T+3+h3) (2 T+1—h3)

> UMcl3]);

3

0

0

: = UU(Rc5c3[ 3, 4]/e[3, 4]

4

0

(2 T—|—5+h3) (2 T+

0 0 0
e, 5 0 0
€33 €34 0
€y, 3 €y, 4 €4, 5

0 €5,  Ss5,5

0 0 €, s

0

0

+ Rc5c3[4,3]/e[4,3]);
,—8 §—4 35 T—4 T°+2 h h,—50 S—30 T+2 h

(3.12)

(3.13)

(3.14)

(3.15)

(3.16)



—2 h,— 100+ (=2 S—7) e, ,+ 2

4,4 1

> X2 1= UJRc7c3[3,4]/e[3,4] + Rc7c3[4,3]/e[4,3]);
X2:=(—4 T—6) e, ,+8 $+8 S T+16 T°—4 h h,+60 S+100 T (3.17)

—4 h +4 h,+200+ (4 T+14) e, ,—2 z
> factor(2*X1 + X2);

—4 (S—T) (2 S—e ,;+te ,1+10+2 T (3.18)
> f#f ========= W& have two cases: 1. T =S. 2. T <> S

> SSSS = {z[1],e[1,1],e[2,2],¢e[3,3],e[4,4],e[5, 5], e[ 6,
6],e[l1,2],e[2,1],e[2,3],¢e[3,2],e[3,4],e[4,3],e[4,5],e
[5,4],e[5,6],e[6,5]};

SSSS = (€1 17 € 51 €517 €5 51 €531 €351 €331 €3 41 €4 31 €4 41 €4 51 5y 4.1
| e5, 57 e5, 6! e6,5’ e6, 6! Zl}
>T:=S S:=a[3]/2; h[1] :=a[1]; h[3] := a[1]+a[2];
a[4] := a[3];
T:=S5
hl :al
h,=a + a,
o= a, 42
> X1 := UY(2*h[1] *Rc5c3[ 3, 4]) ;
XI:=(a;+3) (a;ta+5) ey, e, = (a;+7) (a,Fa+5) e, ,1 (2,43
+a +5) e,z +t2 (ayta +5) (af+a1 a,—2 aj—a,— 20 a,
—50) e ,
> e[4,4] := U solve(Xl, e[4,4] ));
_ (a;+3) e 4 z, 2 (azf—i—az1 a,—2 aj—a,— 20 a,— 50)
e, 4= 2, + 7 +a3+7+ a, +7 4.4)



> SSSS = {z[1],e[1,1],e[2,2],€e[3,3],e[5,5],¢e[6,6], e[,
2] ,e[2,1],e[2,3],e[3,2],e[3,4] ,e[4,3],e[4,5],e[5,4],e
[5,6],e[6,5]};

SSSS = L€ 11 € 51 € 11 € 51 € 55 €5 51 €5 55 €5 41 €4 31 € 51 €5 41 €5 sy 4.5)

€5, 67 6,51 6,67 %1}

> X2 := UU(h[3]*Rc6c5[ 3, 4] ):

1 1 1
X2=2 (a;+5) (a;+3) e, e3l3+(§ af-i-é a, a,— 5 ai—4 a, (4.6)
15
—7) e, 4 zl-l-(—af ai—a a, aitaj—8 al a,—8 a, a, a,t a, a;

+16 ai—13 a?—13 a, a,+8 a, a,+ 94 a;+ 15 a,+ 240 a3+225)

e

3,4
> e[3,3] := U solve(Xx2, e[3,3] )):
_ (alta a,—aj—8 a,—15) z 1
e, ,=— 1 (a,¥5) (@13 T aEE (@ (E e 4.7)

2 4 2 — 2 3 2
—|-azl a, a; a3+8 aj a3+8 a, a, a;—a, a;g 16 a3+13 al+l3 a, a,

—8 a, a,— 94 a— 15 a,— 240 a3—225)
> SSSS = {z[1],e[1,1],€e[2,2],e[5,5],€e[6,6],¢e[1,2],e[2,
1]1,e[2,3],¢e[3,2],e[3,4],e[4,3],e[4,5],e[5,4],¢e[5,6],e

[6,5]};
SSSS = (€1 11 € 51 €517 €5 51 €531 €351 €341 €4 31 €4 51 €5 41 €5, 51 S5 o (4.8)
S, 57 S6,67 21}
> e[4,4] = UJ(el[4, 4] );
a’+a a —a’—12 a,— 35) z 1
e4,4:——(1 4l ;+37 a-|-35 ; 1+2 a,.+ 7 a,+5 (afag (4.9)
(43 ) (@3 ) (23 ) (8 )
+a a, ai—aj+12 a’ a,+12 a, a, a,—a, a5—24 a3+ 33 a

+ 33 a, a2—12 a, a3—214 a§—35 a2—84O a3—1225)

=> SSSS = {z[1],e[1,1],e[2,2],€e[5,5],€e[6,6],e[l,2],e[2,
11,e[2,3],€e[3,2],e[3,4],e[4,3],e[4,5],¢e[5,4],¢e[5,6],e
[6,5]};

SSSS = {€1,17 €1, 20 €517 €501 €5 30 €3 51 €5 41 €4 31 €4 51 €5 41 €5 51 €5 g1 4.10)

€6, 57 6,67 21}

> e[2,2] := WY solve(Re5¢3[2,3], e[2,2] )):

4.11)



(af-l—al a,—a;—4 a;—3) z 1

€22 77 4 (a;+1) (a,+3) T3 (as+1) (a;+3)

( a aj 4.11)

3
+a a ai—ai+4 al a,t4 a a,a,—a, ai—8 ajta’ta a,
—4 a, a,—22 a5—3 a,— 24 a3—9)

> SSSS = {z[1],e[1,1],e[5,5],¢e[6,6],e[1,2],e[2, 1], e[ 2,
3],e[3,2],e[3,4],e[4,3],e[4,5],e[5,4],e[5,6],e[6,5]};

SSSS = L€ 11 € 51 € 11 € 55 €5 51 €5 41 €4 51 €4 51 €5 4r €5 51 €5 or € sy (4.12)
S, 61 Z1}
> e[1,1] := UU( solve(Rc5c3[1,2], e[1,1] ));
a‘+a a —a’+1) z
e11==—(41 s ) W 4.13)
' (a3—1) (a3+1)

2 2 2 _ 4
aj 513—|-a1 a, a a

_ 2 _ 2 _ 2 _
5 s a, as 3a1 3a1 a2—|—2 a3+a2 1
3

2 (a3—1) (a -|—1)

+

=> SSSS = {z[1],e[5,5],e[6,6],e[1,2],e[2,1],¢e[2, 3], e[ 3,
2],e[3,4],e[4,3],e[4,5],e[5,4] ,e[5,6],¢e[6,5]};

SSSS = {61,2' Co, 17 C2, 37 3,20 ©3,4r €4, 30 ©4 51 S5 41 G5 51 S5 g1 Sg, 51 S¢ o1 Zl} (4.14)
> e[5,5] := UU( solve(Rc5c3[5,6], €e[5,5] ));
(a;+11) e, zZ, 2 (azf-l—az1 a,—2 aj—a,— 36 a;— 162)
+ 7

e, .= —

5,5 a,+ 7 a,+7 - 2 4.15)

3

=> SSSS = {z[1],e[6,6],e[1,2],e[2,1],€e[2,3],€e[3,2],e[3,
4] ,e[4,3],e[4,5],e[5,4],e[5,6],e[6,5]};

SSSS = {€1,2r €, 17 €, 31 €301 €3 41 €4 31 €4 51 €5 41 €5 o1 € 51 € o1 Z1) (4.16)

> e[6,6] := UU( solve(Rc5c3[4,5], e[6,6] ));
a’+a a, —a:—20 a,—99) z 1
e6,6:=_( : 4l az+93 a +311 ) l+2 279, (a1l (& & 4.17)
(3T 7) (9 ) (927 7) (9 )
+a a, ag—a;‘-l-ZO a7 a;,+20 a, a, a,— a, a§—40 ag-i- 97 a?

+97 a, a,—20 a, a,— 598 a— 99 a,— 3960 a,— 9801)

=> SSSS = {z[1],e[1,2],e[2,1],¢e[2,3],€e[3,2],e[3,4], €[4,
3],e[4,5],e[5,4],e[5,6],e[6,5]};

SSSS = (€1, 20 €, 17 €, 31 €350 €3 41 €4 50 €4 51 S5 a1 €5 g1 € 51 71} (4.18)

> for i from1 to 6 do UU( ef[i,i]); od;
(af-l—azl az—a§+l) z

4 (a3—l) (a3—|— l)

1

2 2 2 4 __ 2
aj 5134-&1l a, as—as—a, ag 3 a

+

2 _ 2 _
1 3al a2+2 a3+a2 1
3

2 (a3—l) (a —i—l)



(af—i—al a,—a;—4 a,—3) z 1

T4 (a,+1) (a,+3) T aF) (a3

2 -2 2 _
aj a3—|-a1 a, a;

4 2 — 2 3 2 — — 2
a3+4 aj a3+4 a, a, a;—a, a;g 8 a3+al+al a, 4 a, a, 22 as

-3 a2—24 a3—9)

_(af—i—a1 a,—a;—8 a,— 15) Z1+ 1 o -
4 (a3+5) (a3+3) 2 (a3+5) (a3+3)(al d;T 4, a, a;

a;+8 a’ a,+8 a, a, a,—a, a;—16 aj+13 a7+ 13 a, a,— 8 a, a,
_ 2 _ _ _
94 a2—15 a,— 240 a,— 225)

(af+a1 a,—a;— 12 a;— 35) z 1

— 2 2 2
4 (a3+7) (a3+5) +2 (a3+7) (a3+5)(a1 asta, a, aj
—a;‘+12 a? a,+12 a, a, a,— a, a§—24 a§+33 a?+ 33 a, a,
—12 a, a,— 214 a7— 35 a,— 840 a3—1225)
_(af+al a,—a;— 16 a;— 63) z1+ 1 oy ,
4 (a;+t7) (a;t9) 2 (a;+7) (agt 9)(a1 a3 T 4, 4, a3
—a§+16 a? a,+16 a, a, a,— a, a§—32 ag-i- 61 a’+ 61 a, a,
—16 a, a,— 382 a’— 63 a,— 2016 a,— 3969)
(a2+a a—a2—20a—99) z 1
(<1 1 9 3 3 1 _ 5
4 (a3+ 9) (a3+ ll) +2 (a3+ 9) (a3+11)(a1 asta a, aj (4.19)

—a;+20 a2 a,+20 a, a, a,—a, a;—40 a;+ 97 a2+ 97 a, a,

—20 a, a,— 598 a2—99 a,— 3960 a,— 9801)

> X1 := UU((-h[1] -1 + 2*S)*Rc5c3[2,2] + 2*Rc5c6[2,2] )

X1=2 a; (a;+t2) e, e, 4.20)
(a3+a1+1) (al—l—a3) (a3+1+a2+a1) (—a3—1+a2+a1) z2
B 32 (a;+1)?
1
+W((a§+2 a3—l) (a3+a1+1) (al—l—a3) (a3+l

1

+a2+al) (—a3—1+a2+a1) Zl)_—8 (a3+1)2(a3 (a3—1) (2

+3) (a3+2) (a3+a1+l) (al—l—a3) (a3+1+a2+a1) (—a3—1
+a2+a1))

> X2 @ = UJ (-h[1] + 1 + 2*S)*Rc5¢c3[3,3] + 2*Rc5c¢6[ 3, 3]
)
4.21)

e

3,2

X2 =2 (a3+4) (a3+2) e 2, 3




1
T3 (mrap((BT At (Tatamd) (atitata

—a3—3+a2+a1) zf)—l— a;+6 a3+7) (a3+a1+3) (

8 (a3+3)2((
—a3+a1—3) (a3+3+a2+a1) (—a3—3+a2+a1) zl)

1
EirEP—— (a3+3)2((a3+5) (a3—l—4) (a3—|—2) (a3—|-1) (a3+a1—l—3) (—a;
+a1—3) (a3+3+a2+a1) (—a3—3+a2+a1))

> X3 1= UU((-h[1] + 3 + 2*S)*Rc5c3[4, 4] + 2*Rc5c6[ 4, 4]

)

X3=2 (a;+6) (a;t4) e ; e, 4.22)
1

32 (a3+5)2((

a3+a1+5) (—a3+a1—5) (a3+5+a2+a1) (

—a,—5+a,ta) z})+

: aj+ 10 a3+23) (a3—|—al

8 (a3+5)2((
+5) (—a3+al—5) (a3+5+a2+a1) (—a3—5+a2+a1) Zl)

1
— 5 A xo (a3+5)2((a3+4) (a3+3) (a3+7) (a3+ 6) (a3+a1+5) (—a;
+al—5) (a3+5+a2+al) (—a3—5+a2+a1))

> X4 = UX(-h[1] + 5 + 2*S)*Rc5¢3[5,5] + 2*Rc5¢6[ 5, 5]

) ;
X4:=2 (a,+8) (a,+6) e, , e . (4.23)
_(al+7+a3) (al—7—a3) (a3+7+a2—|—al) (—a3—7+a2+a1) z2
32 (a3+7)2
1
- 2 — 7
+8 (a3+7)2((a3+14 a3+47) (a1+7+a3) (2, 7 a,) (a3+7

1
+a2+a1) (—a3—7+a2+a1) Zl)—m((a3+5) (a3

+9) (a;+8) (a;+6) (a,+7+a) (a,—7—a) (a;+7+a+ta) (
—a,— 7+ a,+a)))
> e[2,1] := solve(Xl, e[2 1]):

1

&, 1= ¢ (a3+1)2 2 2((a3+a1+1) (al—l—a3) (a3+l 4.24)

+a2+a1) (—a3—1+a2+a1) (4 a;+16 ai—4 aj z,+4 a;—8 a, z
+Z§—24 a3+4 zl))

=> e[ 3,2] := solve(X2, e[3,2]);

(a3+2) e




1
2764 (a;+3)7 (a;t4) (a;t2) e

e ((a3+al—|—3) (—a3—|—a1

2,3

—3) (a3+3+a2+a1) (—a3—3+a2+a1) (4 a§+48 a§—4 ag z,
+196 a2—24 a, z,+ 22+ 312 a,— 28 z,+ 160))
> e[4,3] := solve(X3, e[4,3]);
1

e ((a3+al—|—5) (—a3—|—a1

©37 64 (a,+5)° (a,+6) (a,+4) e,
—5) (a3+5+a2+a1) (—a3—5+a2+a1) (4 a§+80 a§—4 ag z,
+580 aZ—40 a, z,+ 22+ 1800 a,— 92 z, +2016))
> e[5,4] := solve(X4, e[5,4]);
1

e

947 64 (3,7 1) (a,+8) (a3, 16) & ((NTTHH) (777 (4

+7+a2+a1) (—a3—7+a2+a1) (4 a§+112 a§—4 ag z, +1156 ag
— 56 a, z,+ 22+ 5208 a,— 188 z, + 8640))

> SSSS := {e[1,2],e[2 3],e[3,4],e[4, 5], ¢e[5, 6],e[6, 5]}:

| SSS5S5 = {el,Z’ e2,3' e3,4' e4,5’ e5, 6! e6,5}
> e[6,5] := UJ(sol ve(Rc5c3[5,5], €e[6,5]) );
e, = . ((2 a5+34 a,— z, +140) (2

5,6

a —9—a3) (a3+9+a2+a1) (

1

6,5 64 (a3+ 9)2 (a3+8) (a3+10) e
a§+38 a3—zl+176) (a1+9+a3) (
—a3—9+a2+a1))

> SSSS

={e[l,2],e[2,3],e[3,4],¢e[4,5],¢e[5,6]};
SSSS5 = {€1,2r €, 3r €3,4r €4, 57 5,6}
> 2[1] := 2*(nu+l)*(nu-2):

z, =2 (v+1) (v—=2)

> UVA( Rc5c3) ; UM(Rc7c2); UMA(Rc7c3) ; UMA( Rc5c6) ; UV
(Rc6chH) ;

(4.25)

(4.26)

4.27)

(4.28)

(4.29)

(4.30)

4.31)



=>_Ul\/l4(c[l]);UNH(C[Z]);_UW(C[3])J

0

0

(a;+a +3) (a,—1—a,)

0

0

4

0

0

0

0

(4.32)



—(a3+3—|—a2+al) (—a3—l+a2—|—al)
0 —(a + !
0

0

2 2 2 2 2 2 .2
\Y al-l—v a, a,—Vv aj—aj a;— q

(4.33)

> # Al relations are resolved. W can set any val ues
to e[ii,li+1l]. Set it match themto the "article"

(> # Using formulas from the artivcle create 6:6 matrices
and compare them with matrices received after
resolving relations.

:> #
> SSSS = {};
SSSS = O (4.34)
[> #UMc[1]); UM c[2]):
[> #UMA(c[3])

noon W ke
I
n o~ Y




t:=t 4.35)

HO1l := (i,j) -> ( a[1l] + 2*i -1
HOl:= (i, j)y=a,+2-1—7 (4.36)
> HIO := (i,j) -> ( a[2] - 2*i + 2%} ):
HIO = (i, jyvra,—2-i+27 4.37)
> H2 = (i,)) -> HOL(i,j) + H1O(i,j); # ( J +h[1] + h
[10])
H2:= (i, j)yw» HOI1(i, j)+ HIO0(1i, J) (4.38)
S = (j,k) ->(a[3] -] + 2*k - 1);
s=(j, kyra,—j+2-k—1 4.39)
> #t =(j,k) ->(a[4] -) + 2*k - 1);
>Sp = (i,j,k) ->( a[1] + a[3] + 2*i - 2*] + 2*k -
1 )/2;
a, a, 1
Sp==(i,j,k)'—>§+5+i—j+k—§ (4.40)
Sm := (i,k) ->(-a[1] + a[3] - 2*i + 2%k -
1 )/2;
a, a, 1
Sm==(i,k)'—>—§+§—i+k—§ “4.41)
Tp := (k) -> ( a[1] + a[2] + a[4] + 2%k -
1 )/2;
a, a, a, 1
Tp==k'—’§+§+§+k—§ 4.42)
Tm :=(j,k) ->(-a[1l] - a[2] + a[4] - 2*] + 2*k -
1 )/2;
a a, a, 1
Tm:= (j, ky»—5 -5 +5—j+k—3 (4.43)
Q@ = (j,k) ->nu / s(j,k) + 1;
, %
Op:= (J, k)~ S5, &) +1 (4.44)
Qn :=(j,.k) ->nu/ s(j,k) - 1L
Oom:= (7, k)~ 1 4.45)

s(3, k)

nu;
v (4.46)



> MEO1 := (i,j,k) -> Matrix( 6,6,]
> [ Sp(i,j,k ),0,0,0,0,0],
> [0, Sp(i,j,k+1),0,0,0,0],
> [0,0, Sp(i,j,k+2),0,0,0],

> [0,0,0, Sp(i,j,k+3),0,0],
>10,0,0,0, Sp(i,j,k+4),0],
>10,0,0,0,0,Sp(i,j,k+5)11);

MEOQO1:= (i, j, k) » Matrix(6, 6, [[Sp(i, j, k), 0, 0, 0, 0, 07, [0, Sp(1i, 4.47)
jr k+ l)l OI OI OI O]I [OI OI Sp(ll jr k+2)l OI OI O]I [OI OI OI Sp(l/
j» k+3), 0,01, 110,0,0,0, Sp(i, j, k+ 4y, 01, [0, O, O, O, O, Sp(1,

| J k5

> MFO1 := (i,j,k) -> Matrix( 6,6,]
> [ Smii,k ),0,0,0,0,0],
> [0, Sm(i, k+1), 0,0, 0, 0],
> [0,0, Sm(i, k+2), 0, 0, 0],

> [0,0,0, Sm(i, k+3), 0, 0],
>[0,0,0,0, Smi,k+4),0],
>1[0,0,0,0,0,5Smi,k+5)]]);

MFO01:= (i, j, k) » Matrix(6, 6, [[Sm(i, k), 0, O, 0, O, 071, [0, Sm(1i, k (4.48)
+ 1y, 0, 0, 0, 07, [0, O, Sm(i, k+2), 0, 0, 07, [0, O, O, Sm(1, k+ 3),
o, 01, 16,0, 0,0, Sm(i, k+ 4y, 01, 10, 0, 0, O, O, Sm(1i, k+ 5)]])

> MHL := UM MEO1(-1,0,k) . M01(0,0,k) - MO01(1,0,Kk)
MEO1(O, O, k));

a, 0 0 0 0 0
0 a 0 0 0 0
0 0 a 0 0 O

MHI = (4.49)

0 0 0 0 a 0

0 0 0 0 0 a

1

> UM c[1] - MFOL(1,0,1). NEO1(0,0,1)):




(4.50)

ME21 := (i,j,k) -> Matri

> I x( 6,6,][

> [ 2*Tm(j+1,k ),0,0,0,0,0],
> [0, 2*Tm(j +1, k+1), 0,0, 0, 0],

> [0,0, 2*Tm(j +1, k+2), 0, 0, 0],

> [0,0,0, 2*Tm(j +1, k+3), 0, 0] ,
>10,0,0,0, 2*Tm(j+1, k+4), 0],
>10,0,0,0,0,2*Tm(j +1, k+5)]]);

ME2]1:= (i, j, k) » Matrix(6, 6, [[2-Tm(j+ 1, k), 0, O, O, O, O], [0, 2 (4.51)
-Tm(j+1, k+1),0,0,0,0], 10,0, 2-Tm3ij+1, k+2),0,0, 0], [0,
0,0,2-Tm3j+1, k+3), 0,03, 10,0,0,0, 2-Tmj+1, k+4), 0], [O,
0,0,0,0,22Tm(j+1, k+5)1]

[0,0,0,0, 2*Tp(k+3),0],

[0,0,0,0,0,2*Tp(k+4)]1);

MF21:= (i, j, k) » Matrix(6, 6, [[2-Tp(k—1), O, 0, 0, 0, 07, [0, 2 4.52)
-Tp(k), 0, 0, 0, 07, [0, O, 2:TP(k+ 1), 0, 0, 01, [0, O, O, 2:Tp(k+ 2),

o, 01, 16,0, 0,0, 2:Tp(k+ 3), 01, [0, O, 0, O, O, 2:Tp(k+ 4)]])

> UMc[2]):

> MF21 := (i,j,k) -> Matrix( 6,6,]
> [ 2*Tp(k-1),0,0,0,0,0],
> [0, 2*Tp(k ),0,0,0,0],

> [0,O0, 2*Tp(k+1), 0, 0, 0],

> [0,0,0, 2*Tp(k+2), 0, 0],

>

>

(4.53)




—(a3+1+a2+al) (—a3+l+a2—l—al)
0 —(a;+ -
0
(4.53)
0
0
0
> UM MF21(1, 2, 1+#1) . ME21(0,0,1) - c[2]):
00 0 0 0 O
00 0 0 0 O
00 0 0 0 O
(4.54)
00 0 0 0 O
00 0 0 0 O
00 0 0 0 O
> MH21 := UMME21(-1,-2,k-1) . MF21(0,0,k) - MF21(1,2,
k+1) . ME21(0,0,Kk)):
MH2]1 = (4.55)
_ 4 a,+14 a, 0 0 -
0 4 a, +14 a, 0
0 0 4 a +4 a,
0 0 0 4 a +4 a,
0 0 0
0 0 0
(> ME10 := (i,j,k) -> Matrix( 6,6, [
> [ Tr(j+1,k )*Qm(j +1, k



), 0,0,0,0,0 ],

> [ Sm(i,k )*Q(j+1, k ), Tm(j+1, k+1)*Qr(j +1,
k+1), 0,0,0,0 ],

> [0, Sm(i, k+1) *Qo(j +1, k+1), Tm(j +1, k+2) *Q(j +1,
k+2), 0,0,0 1],

> [0,0, Snm(i, k+2) *Qo(j +1, k+2), Tn(j +1, k+3) *Qr(j +1,
k+3), 0,0 ],

>[0,0,Q0, Sm(i, k+3) *Qo(j +1, k+3), Tm(j +1, k+4) *Q(j +1,
k+4), 0 ],

>[0,0,0,0, Sn(i,k+4)*Qo(] +1, k+4), Tm(j +1, k+5) *Qn(j +1,
k+5) 11);

ME10:= (i, j, k) » Matrix(6, 6, [[Tm(j+1, k)-Om(j+1, k), 0, 0, 0, 0, (4.56)
01, [Sm(1i, k) Qp(F+ 1, k), Tm(j+1, k+1)-Omj+1, k+1),0,0,0,
01, [0, Sm(i, k+ 1) 0Op(j+1, k+1), Tm(j+1, k+2)-Om(j+1, k
+2),0,0,07, 10,0, Smi, k+2)0p(j+1, k+2), Tmj+1, k+ 3)
“-Om(j+1, k+ 3y, 0, 01, [0, O, O, Sm(i, k+ 3):0p(j+ 1, k+ 3), Tm(J
+1, k+4)y-Omj+1, k+4), 01, 0,0,0,0, Smi, k+4)-Op(j+1, k
+ 4y, Tm(7+1, k+5)-0mj+1, k+5)7])

> MF10 := (i,],k) -> Matrix( 6,6,]

> [ Sp(i,j,k )*Q(j+1,k ), Tp(k )*om(j+1,
x+1), 0,0, 0, 0],

> [0, Sp(i,j, k+1)*Q(j +1, k+1), Tp(k+1) *om(j+1,
k+2), 0, 0, 0],

>[0,0, Sp(i,j, k+2)*Q(j +1, k+2), Tp(k+2) *om(j+1,
k+3), 0, 0],

>1[0,0,0, Sp(i,j, k+3)*Q(j +1, k+3), Tp(k+3) *om(j+1,
k+4), 0],

>[0,0,0,0, Sp(i,j,k+4)*Qo(j+1, k+4), Tp(k+4)*om(j+1,
k+5)] ,

> [0,0,0,0,0,Sp(i,j,k+5*Q(j+1,k+5) 11);

MF10:= (i, j, k) » Matrix(6, 6, [[Sp(i, j, k) Op(F+ 1, k), Tp(k)-Om(j (4.57)
+1, k+1),0,0,0,07 [0, Sp(Z, 7, k+1)Op(j+1, k+1), To(k+ 1)
“Om(j+1, k+2y,0,0,071, 10,0, Sp(i, 3, k+2)-0p(j+1, k+2),

Tp(k+ 2)y-Om(j+1, k+3), 0, 01, [0, O, O, Sp(i, 7, k+3)-0p(F+1, k
+ 3y, To(k+ 3)-Om(j+1, k+4), 0], (0, 0, 0, O, Sp(i, j, k+ 4)-Op(J
+1, k+ 4y, To(k+ 4)-Om(7+1, k+5)1, [0, 0, 0, 0, O, Sp(i, 7, k+5)



N L AR S e R R )
> for ii fromlto 5 do e[ii,ii+1] := vu( Tp(ii) * Tm(O,
ii) * Oom(0,ii) * Om(1l,ii+1)); od;

(a3+1+a2+a1) (—a3—1+a2+a1) (V—a3—1) (V—a3—2)

©,27= 7 4 (a,T1) (a,+2)
(;+3+a,ta) (—a,—3+a,+ta) (Vv-3—a,) (v-4—a,)
€23 T 7 4 (a,*+3) (a,t4)
(a3+5+a2+al) (—a3—5+a2+al) (V—S—a3) (V—6—a3)
S3,47T 7 4 (a,t+5) (a5t ¢6)
(a3+7+a2+a1) (—a3—7+a2+a1) (V—7—a3) (V—8—a3)
Sy, 5T 4 (a,+ 7y (a;t8)
_ (&:t9tata) (ma,—9+ata) (v—a,—9) (v—a,—10) 458
€5, 6= 4 (a3+9) (a3—|—10) (4.58)

> MHLO := UMA(MELO(O,-1,k) . MF10(0,0,k) - MF10(0, 1, k)
ME10( O, 0, k) ) ;

MH10 := 4.59)

> UMA( c[3] - MF10(0,1,1).ME10(0,0,1));
-O 0 O O-

0 0 0 0
(4.60)
0 0 0 0

V# Case 20 T < S mmmmmmm e e e e e e o
[> ssss := {z[1],e[1,1],e[2, 2], e[3,3],e[4, 4], €[5 5], e[6,




6],e[1,2],e[2,1],e[2,3],e[3,2],e[3,4],e[4,3],e[4,5],e
[5,4],e[5,6],¢e[6,5]};

SSSS = {el, 17 el, o 62’11 62’21 62’31 63, o e3, 37 63, ar e4’3r 64’4, 64’51 65, qr
€5, 51 €5, 61 6,51 €6, 61 Z1}
> h[3] := a[1l] +a[ 2];

h3 = al-l— a,

>T :=a[4]/2; S:=a[3]/2; h[1] := a[l]; h[10] := a[?2]

a
4
T:= -
a
3
S = 5
hlza1
h = a,

> #Rc5c3 1= UM Re5¢3):

[> X1 := U Re5¢3[3,2]/e[3, 2] ): X2 := UY Rc5c3[2, 3]

le[2, 3] );
1 __(a3+l) (—a3+al—3) e2l2_(a3+5) (—a3+al—3) e, ,
T 2 a 2 a,
(—a3+al—3) z; 1
+ 2 a +2 al((—a3+al—3) (2 ai+2 a a,—2 a3
—a,a,—a,—2 a,—15 a,— 9 a4—36))
X2._(a3+1) (a3+a1+3) e2,2_(a3+5) (a3+al+3) e 3
'_ 2 a, 2 a,
+(a3+a1+3) z,

2 a;
+ ! + +3 2 a4+ 2 -2 a‘— —a’—=2
5> 5 ((a3 a, ) ( as a, a, as a, a, a; a,

1

— 15 a3—9 a4—36))

> Y1 := U h[3]*Re7¢3[3,2]/e[3, 2] ): Y2 := UJ h[3]*

Rc7c3[2,3]/e[2, 3] );
YI'=—(a,+t1) (a,ta+ta+3) e ,+(a,+t35 (a,ta+ta+3) e  +/

—a4—a1—a2—3) zl—(a4+a1+a2+3) (2 a+2 a az—ag—a3 a,

-2 aﬁ—Z a,—9 a,— 15 a4—36)

(5.1)

(5.2)

(5.3)

5.4)

(5.5)



Y2:==—(a,t1) (—a,+a +a—3) e, ,+(a+5 (—atata —3) e (55

+(a,—a,—a,+3) z;—(—a,+tata—3) (2 ai+2 a a,—a,—a, a,
-2 a;—2 a,—9 a,— 15 a,— 36)
> e[3,3] := solve(Xl, e[3,3]);
1
e, ;3= a3+5(2 ai+2 a a—2 a;—a, a, ta, e2,2—afl—2 a,—15 a, (5.6)

—9 a4+ez,2+21_36)

> e[2,2] := solve(Yl, e[2 2]);
1 5 1 1 5 1 5 1 1 3
€, =3 al-i-é a a,—z a—7 a~3 az—a3—a4+a Z, =3 5.7

=> SSSS = {z[1],e[1,1],e[4,4],¢e[5,5],¢e[6,6],¢e[1, 2], e[2,
1]1,e[2,3],¢e[3,2],e[3,4],e[4,3],e[4,5],e[5,4],e[5,6],e
[6,5]};

SS8S8S = {61,1' €1, 2r ©,17r 5,31 C3,2r €3, 4r €4 31 Sy 41 Sy 51 S5 41 G5 51 S5 g1 (5-8)
i €, 51 6,67 21}
> e[1,1] := solve(Rc5c3[2,1],¢e[1,1]);
1 1 1 1 1 1 1
€, =3 af—i-z a, a,— 7 ag—z ai—z a2+Z Zl+§ 5.9
> SSSS = {z[1],e[4,4],e[5,5],¢e[6,6],e[1,2],e[2, 1], €[ 2,
3],e[3,2],e[3,4],e[4,3],e[4,5],e[5,4],¢e[5,6],e[6,5]};
SS8S5 = {61,2' €2, 17 ©2,3r 3,21 C3, 41 €4, 31 €4, 41 Cy 51 S5 41 S5 51 G5 g1 S 51 (5'10)
i S, 67 21}
> e[4,4] := solve(Rc5c3[4,3],¢e[4,4]);
1 1 1 1 1 1 35
&, 4= 5 af-i—z a, a,— 3 ag—z ai_é a,—3 a,—3 a4+Z zZ, = % (5.11)

=> SSSS = {z[1],e[5,5],e[6,6],e[1,2],e[2,1],¢e[2, 3], e[ 3,
2],e[3,4],e[4,3],e[4,5],e[5,4] ,e[5,6],e[6,5]};

SSSS == (€1, 20 €, 17 €, 31 €350 €341 €4 31 €4 51 5 41 €5 51 €5 g1 € 51 € o1 71} (5.12)

> e[5,5] := sol ve(Re5c3[5, 4], e[ 5, 5] ) ;
1 1 1 1 1 1

&5 =3 At - g ATy ATy a4 daty -5 (1

=> SSSS = {z[1],e[6,6],e[1,2],e[2,1],€e[2,3],€e[3,2],¢e[3,
4] ,e[4,3],e[4,5],e[5,4],e[5,6],e[6,5]};

SSSS = {€1,2r €, 17 €, 31 €301 €3 41 €4 31 €4 51 €5 41 €5 o1 €6 51 € o1 Z1) (5.14)




> e[6,6] := solve(Rc5c3[6,5],€e[6,6]);
1 1 1 1
€= 5 @ +§ a

1
6 6 : = ag—z ai—z a,—5 a,—=5a+y z— 5 (5.15)

> SSSS = {z[1],€e[1,2],e[2,1],€e[2,3],€[3,2],e[3,4],e[4,
3],e[4,5],e[5,4],e[5,6],e[6,5]};

SSSS = (€1, 20 €, 17 €, 31 €350 €3 41 €4 50 €4 51 S5 a1 €5 g1 € 51 71} (5.16)

> z[1] := factor(solve( Rc6c5[3,2], z[1] ));
zl:=(a3—a4+2) (a3—a4—2) (5.17)
> SSSS (= {e[1,2],e[2,1],e[2,3],e[3,2],e[3,4],e[4,3],¢e

[4,5],e[5,4],e[5,6],e[6,5]};

SSSS = {€1,2r €5, 17 €5, 370 ©3,5r €3 41 €4 31 €4 51 €5 41 E5 o1 € 5} (5.18)

1 1

5 af—i—i a, a,—5 a,— ;5 a; a,

> for ii from1lto 6 do UJ(e[ii,ii]); od;
1 1 1
T2

1 5 1 1 1 5
5 41T 5 & 8T 5 aTa&T4a—5 4 4,75
1,1 1 1 17
§a1+§ a a,—3 a; a—3 a,—2 a—-2a =5
1 5 1 1 1 37
§a1+§ a; a,= 3 a,—3 a;—3 a,~ 35 a a4~ 5
1 5 1 1 1 65
> al—i-z a; a,— 3 a,—4 a,— 14 a,~ 53 a a— 5
1 5 1 1 1 101
ats; e a-35a-%a=-5a=-5 a 3" (5.19)
> e[4,3] := UU(sol ve(Rc5c3[3,3],¢e[4,3]));
(a3+2) e, 5 e, 1 \
e, .= - : al+2 al a +a?az—2 a2 a2 (5.20)
4,3 (a3+6) e, 4 e3l4(a3+6)( 1 1 72 1 72 193

—a’a,a,—a a,—4 a a, aj—2 a, ata3 a,+2 a a,—20 a, a
—12 al a,—32 a, a, a,— 16 aj a,t4 ai+28 aj a,+16 a, a;— 66
aj—66 a, a,—33 a;+82 a5+ 181 a, a,+ 33 aj+ 484 a,+ 348 a,
+897)

=> SSSS (= {e[1,2],e[2,1],€e[2,3],e[3,2],e[3,4],e[4,5],¢e
[5,4],e[5,6],€e[6,5]};

SSSS = {€1,20 €3,11 €5, 31 €3, 51 €3 41 €4 51 €5 41 €5, 61 €4 5} (5.21)

> e[3,2] := U sol ve(Re7¢3[3, 3], e[3,2]));

(5.22)



a,+a, +3 —a.+a —3 a +ta +a +3 —a,t+a +a —3
e::(3 1 ) (93 1 ) (94 1 2 ) (T 1 2 )(5.22)

3,2
16 e, 3

=> SSSS = {e[1,2],e[2,1],e[2,3],e[3,4],e[4,5],e[5,4],e
[5.6],e[6,5]};

i SSSS = {€1,2r ©5,17 ©5,37 €3,4r €450 €5, 41 €5, 51 S 5} (5.23)
> e[2,1] := UJ(solve(Rc5c3[2,2],e[2,1]));
+1+ —1- +1+a,+ —a,—1+a,+

> SSSS : = {e[1,2],e[2,3],e[3,4],e[4,5],e[5,4],e[5,6],e
[6,5]};

SSSS == (€1, 20 €3, 31 €3, 41 €4, 51 €5 41 €5 1 € 5) (5.25)
=> e[ 5,4] := UU(solve(Rc5c3[4,4],e[5,4]));
.. = (2, + 7+ a;) (a,— 7= a,) (i46+ezl-5i- a,+ a)) (—a,— 7T+ a,+ a,) (5.26)
> SSSS := {e[1,2],e[2 3],e[3,4],e[4, 5], ¢e[5, 6],e[6, 5]}:
SSS8S = {(€1,20 €5, 31 €3 41 €4 51 €5 o1 € 5} (5.27)

> e[6,5] := UUsol ve(Re5¢3[5, 5], e[6,5])):

(a1+9+a3) (a1—9—a3) (a4+9+a2+a1) (—a4—9+a2+a1)

€6, 5= 16 e (5.28)
> 5SSS 1= {e[1,2],e[2 3],e[3, 4],e[4, 5],e[5,6]}:
SSSS = {€1,20 €3, 31 €3, 41 €4 51 €5 ¢} (5.29)
> SSSS = {};
SSSS = @ (5.30)
>for ii from1l to 5 do UU(e[ii+1,ii]); UUe[ii,ii]);

UU(e[ii,ii+1]); od;
(a1+1+a3) (al—l—a3) (a4+l+a2+a1) (—a4—l+a2+al)
16 e

121
2a+2a

1,2

(a3+al+3) (—a3+al—3) (a4+al+a2+3) (—a4+al+a2—3)

16 e,
1 ) 1 1 1 5
> al—i-z a, az—é az—a3—a4—§ a, a4—§
e

2,3




(a1+5+a3) (a1—5—a3) (a4+5+a2+a1) (—a4—5+a2+al)

16 A
1 ) 1 1 1 17
§a1+§ a, a,~53 a; a,—5 a2—2 a3—2 a,— %
€3, 4
(al+7+a3) (al—7—a3) (a4+7+a2+al) (—a4—7+a2+al)
16 e, s
1 ) 1 1 1 37
§a1+§ a, az—é a2—3 a3—3 a4—§ a, a4—7
e4,5

(a1+9+a3) (a1—9—a3) (a4+9+a2+a1) (—a4—9+a2+a1)

16 e ¢
1,1 1 1 65
§a1+§ a, a,— 5 a,—4 a;,— 14 a,— % a a,~ 5
& ¢ (5.31)
> nu = 0;
Vv:i=0 (5.32)

> UVA( Rc5c3 ); UWA( Rc7c3 ); UWM( Rcbc6 ); UMA( Rcb6eh
);

0O 0 0 O
0O 0 0 O
0O 0 0 O
0O 0 0 O
0 0 0 O
0O 0 0 O
0O 0 0 O
0O 0 0 O




0 0 0 O
0 0 0 O
0 0 0 O
0 0 0 O
0 0 0 O
0 0 0 O
(5.33)
0 0 0 O
0 0 0 O
# Using fornulas fromthe artivcle create 6*6
matrices and conpare themw th natrices received
after resolving relations.
SSSS = {};
5558 = & (5.34)
> #UMc[1]); UMc[2]);
> #UMA(c[3]); #
o=t ) =gty ki=kys =Sttt o=t
i=1
J=7
k=k
S = S
t=t (5.35)
HO1 := (i,j) -> ( a[1] + 2*i -]
HOl= (i, jyra, +2-i—7 (5.36)
HIO := (i,j) -> ( a[2] - 2*i + 2% );
H10:= (i, jyra,— 21+ 2] (5.37)
H2 := (i,j) -> HOL1(i,j) + H10(i,j); # ( j +h[1] + h
[10])
H2:= (i, j)w» HO1(1i, j)+ H10(1i, 7) (5.38)
s =(.,k) ->(a[3] -] + 2k - 1);

(5.30)



s=(j, kyra,—j+2-k—1

> #t = (j,k) ->(a[4] -j + 2*k - 1 );
>Sp = (i,j,k) ->( a[1] + a[3] + 2*i - 2*] + 2*Kk -
1 )/2;
a, a, 1
Sp= (i, ks 5y +i-Jtk—3
> Sm = (i,k) -> (-a[1] + a[3] - 2*i + 2%k -
1 )/2;
a, a, 1
Sm==(i,k)'—>—§+§—i+k—§
> Tp := (k) -> ( a[l] + a[2] + a[4] + 2%k -
1 )/2;
Tp==kHa§l+%2+%l+k—%
>Tm := (j,k) -> (-a[l] - a[2] + a[4] - 2*] + 2*k -
1 )/2;
. al a2 a4 s 1
Tm:=(_7/k)'_'_§_§+§—j+k—§
> Q = (j,k) ->nu / s(j,k) + 1;
, A%
Op=(Jr K= 55,1 1
>Q0Om = (j,k) ->nu / s(j,k) - 1;
o= G T
> nu;
0
> MEOL := (i,],k) -> Matrix( 6,6,]
>[ Sp(lljlk )IOIOIOIOIO]I
> [0, Sp(i,j,k+1),0,0,0,0],
> [0,0, Sp(i,j,k+2),0,0,0],
> [0,0,0, Sp(i,j,k+3),0,0],
>10,0,0,0, Sp(i,j,k+4),0],
>10,0,0,0,0,Sp(i,j,k+5)]11);

MEOI == (1, j, k) » Matrix(6, 6, [[Sp(Z, j, k), 0, 0, 0, 0, 071, [0, Sp(1,
j» k+1y,0, 0,0, 071,10, 0, Sp(1i, j, k+ 2y, 0, 0, 07, [0, O, O, Sp(1,
j, kx+3y, 0,03, [0, O, O, O, Sp(i, j, K+ 4), 07, [0, 0, O, O, O, Sp(1i,
Jrk+5)1D)

(5.39)

(5.40)

(5.41)

(5.42)

(5.43)

(5.44)

(5.45)

(5.46)

(5.47)



> MFOL := (i,j,k) -> Matrix( 6,6, [
> sn(i,k ),0,0,0,0,0],
> [0, Sn(i, k+1),0,0,0, 0],
> [0,0, sn(i, k+2),0,0, 0],

> [0,0,0, Sn(i, k+3),0, 0],

> [0,0,0,0, Sn(i,k+4),0],

> [0,0,0,0,0,Sn(i, k+5)]]);

(> MHL := UMMEOL(-1,0,k) . MFO1(0,0, k)
MEO1(0, 0, k) ) :
a, 0 0 0 0
0 a 0 0 0
0 0 a 0 0
MHI =
0 0 0 a 0
0 0 0 0 0
0 0 0 0 a,
(> UM c[1] - MFO1(1,0,1).MEOL(O,O0,1)):
O 0 0 0 0 O
O 0 0 O O O
O 0 0 0 0 O
O 0 0 0 0 O
O 0 0 0 0 O
O 0 0 0 0 O
> ME21 := (i,j,k) -> Matrix( 6,6,
> [ 2*Tm(j+1,k ),0,0,0,0,0],
> [0, 2*Tn(j +1, k+1) , 0, 0, 0, 0
> [0,O0, 2*Tm(j +1, k+2), 0, 0, 0],
> [0,0,0, 2« Tr(j +1, k+3) , 0, O]

MFO1 = (1, j, k) » Matrix(6, 6, [[Sm(1, k), O, 0, O, O, O], [0, Sm(1, k
+1), 0, 0,0, 03, [0, 0, Sm(1, k+2), 0, 0, 03, [0, O, O, Sm(1, K+ 3),
o, 01, 16,0, 0, 0, Sm(1i, k+ 4y, 071, [0, O, 0, O, O, Sm(1i, K+ 5)]])

MFO1( 1, 0, k)

(5.48)

(5.49)

(5.50)



>10,0,0,0, 2*Tm(j+1, k+4), 0],

>[0,0,0,0,0,2*Tn(j +1, k+5)]]);

ME21:= (i, j, k) » Matrix(6, 6, [[2-Tm(j+ 1, k), 0, 0, 0, O, O], [O, 2 (5.51)
-Tm(j+1, k+1),0,0,0,0], 10,0, 2-Tm3ij+1, k+2),0,0, 0], [0,
0,0,2-Tm3j+1, k+3), 0,03, 10,0,0,0, 2-Tmj+1, k+4), 0], [O,
0,0,0,0,2Tmi+1, k+5)]1]

[0,0,0,0, 2*Tp(k+3),0],

[0,0,0,0,0,2*Tp(k+4)]1);

MF21:= (i, j, k) » Matrix(6, 6, [[2-Tp(k—1), O, 0, 0, 0, 07, [0, 2 (5.52)
-Tp(k), 0, 0, 0, 07, [0, O, 2:TP(k+ 1), 0, 0, 01, [0, O, O, 2:Tp(k+ 2),

o, 01, 16,0, 0,0, 2:Tp(k+ 3), 01, [0, O, 0, O, 0, 2:Tp(k+ 4)]])

> WMcl2]);

> MF21 := (i,j,k) -> Matrix( 6,6,]
> [ 2*Tp(k-1),0,0,0,0,0],
> [0, 2*Tp(k ),0,0,0,0],
> [0,O0, 2*Tp(k+1), 0, 0, 0],

> [0,0,0, 2*Tp(k+2), 0, 0],

>

>

—(a,tlta+a) (—atlta +a)
0 —(a,+ -
0
(5.53)
0
0
0
> UMMF21(1, 2, 1+1) . ME21(0,0,1) - c[2]):
O 0 0 O 0 O
O 0 0 O 0 O
O 0 0 0 0 O
(5.54)




> MH21 := UMME21(-1,-2,k-1) . MF21(0,0,k) - M21(1,?2,
k+1) . ME21(0,0,K));

MH21 = (5.55)
44444 0 0 0 _
0 4 a1+4 a, 0 0
0 0 4 a1+4 a, 0
0 0 0 4 a1+4 a,
0 0 0 0
0 0 0 0
[> ME10 := (i,j,k) -> Matrix( 6,6, [
> [ Tm(j+1,k )*Om(3j+1,k
), 0,0,0,0,0 1],
> [ Sm(i,k )*Qp(j+1,k ), Tm(j+1,k+1)*Om(j+1,
k+1), 0,0,0,0 1,
> [0, Sm(i,k+1)*Qp (j+1,k+1), Tm(j+1,k+2)*Om(j+1,
k+2), 0,0,0 ],
> [0,0, Sm(i,k+2) *Qp (j+1,k+2), Tm(j+1,k+3)*Om(j+1,

k+3), 0,0 ],

> [0,0,0, Sm(i,k+3)*Qp(j+1,k+3), Tm(j+1,k+4)*Om(j+1,

k+4), 0 ],

> [0,0,0,0, Sm(i,k+4)*Qp(j+1,k+4), Tm(j+1,k+5)*Om(j+1,

k+35) 11);

ME10:= (i, j, k) » Matrix(6, 6, [[Tm(j+ 1, k)-Om(j+1, k), 0, 0, 0, 0, (5.56)
01, [Sm(1i, k) Op(7+ 1, k), Tm(j+1, k+1)-Omj+1, k+1),0,0,0,
01, 10, Sm(i, k+ 1) Op(j+1, k+1), Tm(j+1, k+2)-0mj+1, k
+2y,0,0,071 10,0, Smi, k+2)Q0p(j+1, k+2), Tm(j+1, k+ 3)
“-Om(j+1, k+ 3y, 0, 01, 10, O, O, Sm(i, k+ 3):0p(j+ 1, k+ 3), Tm(J
+1, k+4)-Omj+1, k+4), 0], (0,0, 0,0, Sm(i, k+4):0Op(7+1, k
+4), Tm(j+1, k+5)-Omj+1, k+5)]]

[> MF10 := (i,j,k) -> Matrix( 6,6, [

> [ Sp(i,j,k )*Qp(3+1,k ), Tp(k )*Oom(j+1,
k+1)IOIOIOIO]I

> [0, Sp(i,],k+1)*Qp (j+1,k+1), Tp(k+1)*Om(j+1,

k+2),0,0,0],



> [0,0, Sp(i,],k+2)*Qp (j+1,k+2) , Tp(k+2)*Om(j+1,
k+3)1010] 14

> [0,0,0, Sp(i,],k+3)*Qp (J+1,k+3), Tp(k+3)*Om(j+1,
k+4),0],

> [0,0,0,0, sSp(i,j,k+4)*Qp(j+1l,k+4), Tp(k+4)*om(j+1,
k+5)],

> [0,0,0,0,0,8p(i,],k+5)*Qp(j+1,k+5) 11);

MF10:= (1, j, k) » Matrix(6, 6, [[Sp(i, F, k)-Op(F+ 1, k), Tp(k)-Om(j (5.57)
+1, k+1),0,0,0,07, [0, Sp(Z, j, k+1)Op(j+1, k+1), To(k+ 1)
‘Om(j+1, k+2),0,0,071, 10,0, Sp(i, 7, k+2)-0p(F+1, k+2),
Te(k+ 2y-Om(j+1, k+ 3y, 0, 01, [0, O, O, Sp(1, 7, k+3):0p(7+1, k
+3), Tp(k+3)-Om(j+1, k+4),0], [0, 0,0,0, Sp(i, j, k+4)-0p(J
+1, k+4), To(k+4)-Om(j+1, k+5)1, 10, 0, 0, 0, 0, Sp(i, j, k+5)
Op(j+1, k+5)1]

> for ii from 1 to 5 do e[ii,ii+l] := UU( Tp(ii) * Tm(O0,
ii) * om(0,ii) * Om(1l,ii+l1l)); od

~Ne

. ::_(a4+l+a2+a1) (Ta,—lt+tat+a)
1,2 4
. ::_(a4+al+a2+3) (—a4+al+a2—3)
2,3 4
. ::_(a4+5+a2+a1) (—a4—5+a2+a1)
3, 4 4
. ::_(a4+7+a2+a1) (—a4—7+a2+a1)
4,5 4
a+9+a,+a —a,— 9+ a,+ a
65,6::_( 4 2 1) ZE 4 2 1) (5.58)
[> MH10 := UM4 (ME10(0,-1,k) . MF10(0,0,k) - MF10(0,1,k)
ME10(0,0,k)) ;
a, O 0 0
0 a, 0 0
MHI10 := (5.59)
0 0 a, O
0 0 0 a,

> UM4( c[3] - MF10(0,1,1).ME10(0,0,1));

Ve _BPr NN



(5.60)



